M1

202447 P PEARR ARSI D144 0

Fs | #® & %51 BHES v BRRER #F
1 £ 4 513902 k#kk+%780) HEHTHE 80.33 BLARAD
2 73 % 4 51101 1 ##*kxkxk6]28 HETE 78.88 BLAAD
3 B M gk 4 513902 #***%*4249 I4F% 81.04 BlRK
4 A ¥ & 510824 *k*kkx%6]24 FHELAEL TR 83.76 BLAAD
5 wF W 5°q 511025%* k#5551 604 EHE S TR 85.32 BLAAD
6 £ & & e 510321 %**k*%%8805 EHES TR 85.12 BLARAD
7 & B Ok 4 511526%*k+4%%((28 N BANETHER 81.38 PUARAS
8 % & e 511521 %*%ksksk364] NE NE THER 81.11 Bl AS
9 oM A 5°q 513902%**kkx%6727 EMEEER 83.24 PURK
10 ES & % 511502%#**k%%002] mEEEEL R 87.36 Bl A
11 B % ¥ 4 511521 %*%kxk5%8046 W4 A B 83.48 BLARAD
12 & N 5'e 511502%#k+45%(363 W4 A B 83.16 BLARAD
13 EoOH # e 511521 %*%kxk5%256) W4 A B 82.88 BLAEAD
14 # 7 L 500243 %k#k+k5%(239 W4 A B 81.24 BLARAD
15 5 o5 B L 511502%k#k*kx%]95X EEBAKER 88.00 BLARAD
16 A4 % 2 511525%k*xkkk%871X WERTHER 84.16 BURK
17 = O e 41090 1 ##kk5%%502 ] AEER 84.92 BLARAD
18 % £ © 513722%%kkkkx%]08] ANEL R 82.40 Bl
19 Mol 3 511304 % k55555012 S 82.00 BLAAD
20 WO oW L 511525%#x4k5%00] 5 0E i T AR B 83.36 Btk ts
21 N B I 510625 **kxk%%04]5 T E B 86.92 BLAAD
22 x| F % 513922%k#xkk%x74]2 0 E R 28 80.08 R A
23 = W e 510321 %*#kxkx%g8343 B R 91.04 BLARAD
24 AN ) % 510121 *##xkk%%0023 R % 5 85.40 BlRK
25 X B & 4 511502%#**k%%()02X 4= TAE B 90.36 Bl A
26 KR L1 % 513420 **kxkx%3408 rE BT 84.00 PR
27 % & W e 530629%##*+4+%(029 KA B A 82.68 BLARAD
28 = M £ 5°q 511521 ***kxk%6565 R s A 85.76 WA
29 73 B 2 511521 %*%kxk5%]10]9 fEEALE R 79.36 BLAEAD

St

B o10i,




Fs | #% % el S1HIES R Bk #i1
30 % H % 510525 sxkix%2023 IV HAREH 86.44 B
31 T B B 370205%***#k*%55]13 IT¥HAREHE 84.20 B
32 i e 5 430426%**+**%%767() V&4 T 88.72 PR
33 R X T B 513901 #**#*k5%0739 A 7 pE 86.28 Bk
34 4% iE S 511524 xkxxkx%0012 A R R 83.28 B
35 % % E I3 511502 k%4112 BYHE 7 St 81.08 Bl
36 B e T 5°q 511502%+**x%%0669 By 3 7 B 80.52 LA
37 X W 3 511521 %#xkskik541() By 7 Rt 79.68 PR
38 A ¥ & 510822 *#k:%()022 BYEE R PR B 85.48 PR
39 7 2] 7 513221 #%xkxkix00]7 FEEE 84.96 B
40 % Hi 5:q 511502%%#**%+%80(7 R 84.28 Bkt
41 ol £33 e 511028*#*kxk%%(0627 EANE R A 84.20 BUEAD
42 KW 5 S11502%*#xk*%68]4 L -2-v Y 84.20 Bl
43 T & F 4 5115023k kxsk%] 647 BT R 83.44 Bl
44 DRSS B 320923 *kxkkxG33] B R 82.52 BEA
45 F ¥ ¥ : 342426% F**x%x%4839 B R 82.28 LA
46 B % 5 370124 **x855%0026 B R 81.96 WA
47 E = ¥ 3 511526%**#xk5x%5817 B R 81.96 PR
48 T & M k9 652201 FH#xx5%%] 625 G R 81.76 B
49 (RS B 421087 kkHH%65] 3 BT A 81.64 B
50 RoE % 4 S11528**k k%5062 AN 81.44 B
S F i % 152327*#434%5%0013 EHERA 80.92 Bkt
52 EE S ¥ 511529 H#kk4%0028 B R 80.40 B
53 ® L % 411522%%FH355%(046 23 80.36 B
54 B # e 140222 %*###*%%0024 B Rk 80.36 Bkt
33 E E 532129 *%%%%500]2 RN 79.96 B
56 B g & 53 511502% 5540662 WA 79.84 Bk
57 ® %F Ok 5’y 510124**xkk5%3227 B RE E 79.80 B
58 F K E 5109027 ##3%%%%9493 HAE B 79.72 Bk
59 R ¥ 510303 %###k#+%0022 223 79.72 A
60 oL B 510125%* k4550019 B R 78.80 BEA

o2, L7

=




Fs | # % 7] SHHES L BRER &
61 %X = H 4 52212 *ikknkkxR6] BT EE R 89.28 Bl
62 . 2 511523 %kkkkkkx56] BT EE R 88.52 BlURK
63 x| #% A 4 510422 %+ #555+%0020 AF AT R 85.92 B
64 o OR 2 530402% %K% 5k%%(319 Hr s ABET 82.40 BlURK
65 #HhoE B 4 520201 #****%%5608 | A7 T PR AE T 87.04 BURK
66 JE & J:: 511123%k*xk%x555% | o o 77 T BE 8 4E T 86.56 RS
67 B X X 4 52242 5% HH kAR (04] B AE TEEET 86.20 BURK
68 s e )2 511521 kkskik()0] 4 B 3 SRR R 84.52 BlURA
69 % F A I3 511524 % sxkk®x7]6 B 3 &R 4R R 83.32 PR
70 E - 3 4 142233 % xkx5%%3520 H 2 & AE 4R R 82.12 BlUR
71 L ® ¥ 4 511521 *xkkikx%k0546 B 2 &R R 81.48 BlUR
72 A e L 511502%%k*xk%x7013 H 2 & AE 4R R 80.84 BlURK
73 H B 5 510525 xkkw*5115 B2 LB EER R 80.72 B
74 2 O K - 51101 1###ssksx4]72 H 2t LB EER R 80.52 Bl
75 ® ok F % 513822% K kx4k#43207 H 21 LB EER R 80.52 B
76 2 9 ® 5 513922k 609X B 2 L AE 4R 5 80.48 PARAR
77 & F K B 520425% K kxHkrHGI X H 2 LB EERR 80.00 B
78 W oM 2 511525%xkkikxk6676 H 2 &R E 4R R 79.00 BlURK
79 A prooHe )2 511502k 5kxkxkQ58 B 3 &R 4R R 78.64 BUR
80 i F 4 2 522401 **k*kx%0(0] 6 B 3 &R AR R 78.52 BlURK
81 A 2 511722k %k k%5605 B 3 SRR R 78.44 PR
82 =%k 2 511526%*k*kkx%251() B 3 &R AR R 78.16 BlRK
83 % 4 4 511325k k58543144 B 3 &R AR R 77.96 BlUR
84 T #H & 7 510603 ***kxk%%049X B 3 &R R 77.88 BlUR
85 # 7 )2 511523 #ksk5k280] B 3 &R AR R 77.72 BlUR
86 L % 511521 ***kxkx%6]34 B2t & B LR R 77.16 PR
87 F i 2 511324%xkxkkx%))3Q B 2 & E 4R R 77.04 BlUR
88 ES % L 500224 % **#kk*%3895 HRBIET 87.96 B
89 3 # L 500222%**Hkkx%20 13 HRBIET 87.88 B
90 KON M L S11102%*#kxkx%773X BRBET 86.84 BURAD
91 " % B = 422326 **HHkE*5) 19 HEREEMET 85.36 BlURK




FS % & 431 SINES S BRRSR #F
92 2 N 1L L 511525 % k%x%5%00]7 HRBET 85.24 PR
93 F o F L 510132%%k%%5%40]2 HRBET 85.20 PR
94 # 14 L 511129%*#*#%%%30]19 HRBET 84.84 PR
95 F T T 4 52213 * k4557247 HRBET 84.76 PR
96 2w/ A 2 511521 % k443404 HRBEET 84.32 PR
97 o 5'e 511523 %% kikrk5644 RBET 84.28 PR
98 # 14 L 511527%k%x%5%4019 HRBEET 84.24 PR
99 7 bl -8 511621 %*****%%590X HHRBIET 84.00 PR
100 % & L 510121 #* k5552074 HRBET 83.80 PR
101 & 1 5'e 511524%%%x%%%2729 RBET 83.56 PR
102 K fE R I 51392 #¥#kikx%(]76 HRBET 83.12 PR
103 e & L2 510321 #***4%3397 HREET 83.00 PR
104 A g % 5'e 532328 *#kkrkxk]345 HRBET 82.84 PR
105 B k] 511524 % sxrkx%65] | HRBET 82.60 PR
106 # H 4 513922 *kkkkx%734] HRBEET 82.16 PR
107 o 2 5221 27%***kkx%40] | RBIET 81.76 PURKD
108 % o H L2 53038 #¥#*x45%2936 HRBET 81.72 PR
109 2 EF & 500109%****%*%9] 24 HRBET 81.60 PR
110 A B T J:: 510722% k% xk%%%705() BB EAIE LT 91.50 Bl
111 o A& IR L2 511526%****%x%093 ik 7 1 T 90.68 PR
112 4 B M L4 511528%#*kkk%%0438 EREEIE T 89.58 BURK
113 A k£ % L2 511602%****k%%4(54 EREEIE T 89.58 BURK
114 4 2 S11527%%**xkx%5613 i 1 T 89.02 PR
115 G 5 513826% *kk k%4250 iR B R 1E T 88.96 BlRK
116 [ 2 511623 **#**%%%395] EREEIE T 88.66 A
117 % % AR 5 52242 5% ¥kkkkx%5]3() i 1 T 88.46 PR
118 # & 2 513029%#**kk5%06] | EREEIE T 88.30 BURK
119 K 2 511524%#*wkk54714 EREEIE T 88.26 BURK
120 = & 2 522132%#*kkk%4D 614 EREEIE T 88.12 BURK
121 BoE = 500221 #xksxknng 17 AR OB 1 T 88.04 BRI
122 W OE A I 522123%**kkk%%)5]8 EREEIE T 88.04 BURK

o400, R

=




Fs | #® & 7 SMES 1L BAER #F
123 4 B 4 L4 53300 %#kkkkEX()5]4 EREEAIE T 87.94 BURK
124 ¥ oA E L 510603+ ***k*%65]4 iR 1 T 87.82 PR
125 Bk # L4 510722%#**kk%%6336 EREEIE T 87.82 BURK
126 I e L4 511502%#**kk5%555() EREEIE T 87.78 BURK
127 Box E L2 511523 %#*kkk5%3(77 EREEIE T 87.64 BURK
128 b P B S11527%kkxwkxx18]4 BRI B2 1E T 87.52 NN o
129 F ¥ & 2 511528**#xkkx4)838 EREEIE T 87.32 Bl
130 BOE Y L2 511521 ##**kk5%00]16 EREEIE T 87.20 BURK
131 R B I L2 52222 5%#** kR3] EREEIE T 87.06 BURK
132 Az K & 2 51031 1##*xrksx]10]4 EREEIE T 87.00 BURK
133 T B 7 510525%*kHkkx%423) R B 1E T 86.88 BlURK
134 oh & 2 500101 ##**xk5%5]16 EREEIE T 86.78 BURK
135 4 A 2 513722%#**kk%%3397 EREEIE T 86.78 BURK
136 % P B 511325%#*xkk%%]8]) EREEIE T 86.70 BURK
137 P W 2 511523 %*#xkk%%3976 EREEAIE T 86.68 Bl
138 % E T I 511621 %#**kk%%(33( EREEIE T 86.64 BURK
139 % X & B 500243 %#**kk%42119 EREEIE T 86.56 BURK
140 Bo@ s 2 510821 xksxknn7] 14 AR OB 1 T 86.24 BRI
141 2 E % B 53038 **Hskknk] 159 AR B R 1E T 86.16 PARAR
142 Z oW E L2 511523 %#*xkk5%5(7] EREEIE T 86.12 BURK
143 % H I3 510525%kkkskk %703 K EREEIE T 86.10 Bl
144 BB A L2 520102%#**kk%%3414 EREEIE T 86.04 BURK
145 B A 2 520421 *¥*kxkx%00] X i 1 T 85.86 PUARAD
146 F L2 522427 HFRRER] ()3D EREEIE T 85.74 BURK
147 % bt L2 522130%#**kk54281() EREEIE T 85.68 BURK
148 b ¥ L 522126k xHkx%]5]8 ARE AT 85.64 BAEAD
149 x £ = 2 513125 ***xk%%00] X EREEIE T 85.52 BURK
150 K O5 % J:: 5221 27%kk k%% (3K EREEIE T 85.32 Bl A
151 Z % % 2 511502%#**kk5%4]14 EREEIE T 85.32 BURK
152 Box m B 510502 ***4kx%74] X R B 1 T 85.24 BURAD
153 B Oy % 3 511522 kkskkx 577X EREEIE T 85.22 Bl

St

5 T,




Fs | #® & 7 SMES 1L BAER #F
154 2 & 7 ks 510626 #H5x%4774 BB % 1F T 85.12 B
155 B o & 5 510525%##ki#*%8695 B % 1F T 85.10 B
156 | E x % 522124 k446413 BB % 1F T 85.02 B
157 | E Bz ks 510525 k%444 53 BB % 1 T 85.00 B
158 W& X ks 51152 %ksixx3656 BB % 1 T 85.00 B
159 | x| ¥ ks 52242 7x kR HRNX69TS BB % 1 T 84.96 B
160 = ks 511129 Hksx%0032 BB % 1F T 84.90 B
161 H = % ks 511523 %kkinnxq778 BB % 1F T 84.82 B
162 | E B % 51382 | Hassrnnng3 | X BB R 1F T 84.74 Bk
163 % W A B 510525 k] 130 BB % 1F T 84.70 B
164 % )4 L2 S11524%%*%xk%%00] X ARIE R 1E T 84.66 PR
165 P 2 L2 51192 *#*sk*k*%4353 ARIER1E T 84.60 PR
166 ¥ 5 = 2 520330%#***k5%0019 EREEIE T 84.48 BURK
167 % F % L 5001 12%# %k xkx%4385% BRIER1E T 84.42 BUARAD
168 73 i 3 511529 *kkk*%5834 BRIE R 1ET 84.38 PR
169 % [l I 511528##**kk5%463() EREEIE T 84.32 BURK
170 % N L 52213 kkkkk*%(8]7 BB R1E T 84.24 PR
171 il L 500235 %**kk*%%%]10]9 BB 1E T 84.20 PR
172 b7 i L2 510184*#**kk5%(06]4 BB EAIE LT 84.10 BURK
173 R o34 4 :: 511529%*kkkk%%4456 BB R1E T 84.04 PR
174 73 4, :: 522626 F*kxkx%04]8 BRIE R 1E T 84.02 PR
175 = S L2 522132% k% kkk%%7633 EREEIE T 83.88 BURK
176 Tt B 511521 ##*wkk%%0438 EREEIE T 83.88 BURK
177 % T M L2 511521 *kkikxk]736 BB 1ET 83.80 BlRK
178 Mt 4 9 3 513434%xkxik%%251 6 BB 1ET 83.72 BlURK
179 b Fol 2 511025%#**kk5%6794 FREEIE T 83.72 BURK
180 * EH # 2 522732 kHHHRE%30] X EREEIE T 83.68 BURK
181 B ® 2 411527* % k5455807 EREEIE T 83.66 BURK
182 2 2 610303 #***5%%()853 EREEIE T 83.58 BURK
183 e a3 J:: 510502%k#*kk%+78]7 EREEIE T 83.52 Bl A
184 ¥ I Z J:: 513401 *##xkxx]215 EREEIE T 83.52 Bl

%6 Ui,




Fs | # % 7] SHHES L Y &
185 B N3 L4 520201 ##***i%%6053 EREEAIE T 83.50 BURK
186 # # L2 511322%#**kk5%687() EREEIE T 83.48 BURK
187 F X 4l B 520005 *#k*k*¥(]9 B E 3R T 83.44 Bk
188 W X = J:: 522404 % ¥ xkk%%3(]8 EREEIE T 83.42 Bl A
189 N W W B 511112%* k5550016 AR R 1E T 83.40 PARAR
190 o7 R 5 S1I521##aa*%3654 Wl BBET 86.08 PARAR
191 X B 3 513902 %***x%%%(49() ML BT 85.76 BUR
192 3 fik 5 511324 %#wkkx%6593 Wlo B ET 85.16 B
193 7 P 5 511011 #*#wkix%9)77 Wlo B ET 85.04 B
194 7 %z L 513022%**wkirx65]8 Wl B ET 84.64 B
195 % 8B = L 511526%*##kkx%6219 Mo B ET 84.48 B
196 ® 2 4 L 510902k *skx%]178 GRS 84.36 BUEAD
197 2 % A L 513701 #*#wkix%39]4 Wl BT 83.92 B
198 oz g L 522401 #¥¥Hkx%9053 Wl B ET 83.68 B
199 & MO 3 511528*#*kxkx%00] X ML B HRAE T 83.64 BURAD
200 T OB O£ 5 511011 #*#wkixx6)3) Wlo B ET 83.36 B
201 ¥ O # ks 511522%%#wkix%4339 Mo B ET 83.36 B
202 ;K #% 5 510322%**#kix%0436 Wl B ET 83.24 Bt
203 B B # 5 513401 #xwwkink]3]2 Mo B ET 82.72 B
204 x| % s 511528%ksrknx]8]X L AT 82.12 Bl A
205 x| vid 3 513822%*#wkix%3104 Mo B ET 82.12 B
206 % = 5 522131 #rwwkinxsg]s Mo B ET 82.12 B
207 L7/ B 510503 *****5*%6616 ML B HRIE T 82.04 BURAD
208 7 & 5 511521 #xwwkinke5]X Mo B ET 81.96 B
209 O Ak 5 511523 %*#wkixx7]39 Wl & BEET 81.88 B
210 X F 5 511502%%#*x%%%2416 IR X X 81.84 Bl A
211 # X F L 511025%*##k#5%8497 Mo B ET 81.32 B
212 x| # 5 511024 #xxk%%727) ML AT 81.20 Bl A
213 2 E L 511102%**xkix428]X Wl B ET 81.08 B
214 % # 5 511324 % #wkixx3034 Wl B ET 80.96 B




